Subject: Biology

Assignment for SSC Examinees, 2021

Subject Code: 138

Level: SSC

Assignment
Number, Lietirnin Guidelines (cues/steps or stages) Assessment Criterion /Rubric Com’ts
Chapter Assignment 8
Nunibies, outcomes
Chapter Title
Determining | Learners will 1 Firstly. read pages 71-72 and 74-75 of the Biology - -
the effects be able to textbook Indicator ; 3 Rating Scnl; | | Scom—‘
of different 2. To carry out the experiment, essentials are to be e : — - e
03 factors on - explain the collected: transparent glass (or any other transparent pot), | | ) Carrying _A“. SIX Out of six Out '_)rs”‘ Out of "“‘_
releasing role of watch (stopwatch is better but normal watch is enough), | | ©% Of: e FEPPEIIAISY | eRpEMtionts. | Experiments: | enpeaments,
Chapter 04 | oxygen chlorophyll vinegar (or citron juice) any type of detergent (if not | | SXPEHiments a6 Uammeg 45 23 Only 6t
during and light in lg Sl Tama J il d \ .| | (table-1) out experiments | experiments | experiment is
) avatlable, laundry soap will do), clean water and aquatic acceptably | arecarried | are carried sairriad oub
Bioenergetics :S}:‘:tm’:{‘}; photosynthesis: | plant (such as water spinach/common hydra/water i = v ——
comparali{:'c _ ?Y:F']‘i'lhf}_lyd”lll:'? "t'-"-)cd - - > descriptions | acceptably | acceptably and
Sxparmam -describe lhe. 3. Following tables need Lo be drawn on the assignmen Hated ot gt description
an factors’ role | page description | description noted
- photosynthesis: noted noted
o | Fable -1:Experiment observation b) Effectof | Effectof | Effectof | Effectof
e -to examine the Factors Ne. ot wie Reason of Comparative three two factors | one factor factors is
necessity of b"bt.ﬂ“ J h'."bbh 2e:0he explanation of factors explained explained | explained but
chlorophyll . per minute | different or not factors’ explained acceptably. | acceptably. | no onein an
and light in the | |_Effects of factor A effects (table- | acceptably. acceptable
process of A-1 Plant submerged | 1) way.
photosynthesis, | | 1N cIcan water kept in ¢) Citing the The real The real The real The real
direct sunlight factor’s real names of names of name of name of no
A-2 Plant submerged name the three the two one factor factors is
in clean water kept in (Table -2) factors are | factors are is cited cited
shades cited cited according according to
Effects of factor B according according to the the textbook,
B-1 Plant submerged to the (o the textbook. but the
in clean water kept at textbook. textbook. alternate
room temperature name of one
B-2 Plant submerged factor is cited
in lukewarm water acceptably.
Effects of factor C d) When does All six Outofsix | Outofsix | Outofsix
C-1 Plant submerged the rate of situations siluations, | situations, situations,
in half teaspoonful photosynthesis | are cited 4-5 23 only one
(big) vinegar (or decrease or acceptably. | situations situations situation is
lemon juice) mixed increase are cited are cited cited
water. acceptably. | acceptably. acceptably
C-2 Plant submerged Tota-1

in half

i_lcﬁpmnﬁﬂ'fbia)

Total marks for this assignment:16




detergent (or soap)
mixed water.

Table-2 Rate of Photosynthesis

Factor | Real When does the | When does the

name | rate of rate of
photosynthesis | photosynthesis
increase decrease

c

4. A sunny day is to be selected for the experiment. The
same amount of water should be used for each experiment
so that plant parts are submerged fully. The same plant
should be used in each experiment. But every time water
must be changed and all things must be washed properly
with clean water,

S.After setting all six experiments, in every case after one
hour in every one minute, bubble numbers are to be noted
three times. The average of three counts will be the bubble
number per minute, That number has to be written in the
required parts of table-1.

6. Causes of differentiation or no differentiation of bubble
number to be explained through comparisons in pair A-1 vs
A-2. B-1 vs B-2 and C-1 vs C-2, Every explanation should
be in 20-30 words.

7. In table 2 real name of (according to the textbook)
factors should be written. At the same time, when the
photosynthesis rate increases or decreases affected by the
mentioned factors is to be cited.

8.Special attention is needed so that the experiments are
carried out sequentially starting from the moming.

Marks Obtained Comments
13-16 Excellent
11-12 Very good
08-10 Good
0-07 Needs improvement




Assignment for SSC Examinees, 2021

Subject: Higher Mathematics Subject Code: 126 Level: SSC
g 1]
Assignment
r::::] bt':: Assignment Learning Guidelines (cues/steps or stages) Assessment Criterion /Rubric Com’ts
P Outcomes
Number,
Chapter Title
The solution of  »Explain the a. Find the coordinate of the point
0z the straight line rectangular A and draw the straight line. Then : Rating Scale Score
related problem Cartesian identify point A. (Determine the Indicator 4 3 2 1
Chapter ‘ by using coordinate equation then verify the point Drew the line Found the Determined
‘Eleven: coordinate system. A(m.5) and find the value of m. a and identified | coordinate of | the equation.
Geometry: » [ind the Draw the straight line in the graph the point A. A.
Coordinate ) distance paper using suitable unit and Found the Determined Found the
Geometry | The age of Mina between two | identify the point A). b value of h PR or QR coordinste of
is 1 year less than points. b. If the points P and Q are ’ Por Q
twice the age of | Explain the equidistant from R(h, —2) then Faindhe Applied the Wrote u_']e |
Raju. Suppose concept of find the value of h. s i . : 3 p r
Miga’s age is_y slope (Determine the coordinates of P ¢ s,uurd:snalt. R :fféﬁ?;;a:f a:z;n;:ﬁ;)l
while Raju’s is x. (gradient) and Q. Find the value of h using ! calineat by the oin[:: ‘
The relation of a straight line | the formula of measuring the : > g '
St Pt 3 : Found the Costructeda | Found the |
etween their age  » Fing the distance.) equation of formula of slope of AP
can be expressed equation ofa | ¢. If P, Q and S(2a, a-2) are e . : P '
thr . . A ! straight line straight line
ough an straight line. | collinear then find the coordinate ; -
equation, » of § which passes | which passes
qunson. » Determine the ; d throughthe | through the '
Considering x and area of a (Find the coordinate of S by using LN oy
y are two triangle using | the formula of area or slope). POt (;2) w | P (I‘ 2)
variables we geta | oo d. Find the equation of the straight by using the
straight li_nc from system. line which passes through the point slope. |
the equation. A Lp, ccent an G 2] and is parallel to the line Total- |
5:1,53 is ah?tl"l:t ON | equation of a AP Total marks for this assignment: 12
e strai me. straicht Ii 5
The straig ht Ii straightline | petermine the slope of AP
e e by plotting :
i h Y P then find the equation of the
intersects the x yints
and y axis at the i straight line which passes through
points P and Q. the point l;l. 2).

Marks Obtained Comments
10-12 Excellent
08-09 Very good
06-07 Good
00-05 Needs improvement




Assignment for SSC Examinees, 2021

Subject: Physics Subject Code: 136 Level: SSC
Assignment
Number, Y Guidelines Com’t
Chapter Assignment 45 (cues/steps or Assessment Criterion /Rubric ks
Number i stages
L] g )
Chapter Title
A stone of mass 75 | Students will | Follow the text
3 kg is released from a | be able to on pages 47-49 Ratios Scale
height of 40 meters. | explain the of the textbook. Indicator 3 3 B 3 i Score
Chapt('!r 02: a) What is the total ITIDUOI'[ 01. . a) Total energy of If student can If student can
Motion energy of the body at | freely falling | Follow the text the body at the detariiing the write the equation
Chapter 04; a height of 40 | body on pages 100- height of 40 meters total energy of total energy
Work, Power and | meters? 2 Students will | 108 of the b) An explanation If student can If student can
Energy b) Explain, at the | be able to textbook. in how many explain how write what is the
height of 40 meters | explain forms are there in many forms are transformed
the total energy of the | kinetic total energy of the there in total energy
body is having how | energy and body at the height energy.
many forms. 2 potential 0f 40 meters
¢) Explain the change | energy ¢) Explaining the If studen-t can If student If student can If sluﬁcnl can
: change of energy explain can draw draw a graph of write the
of energy by dr"fw'"g by drawing graph changes in graphs of | kinetic energy or equations of
two graphs of the time-kinetic kinetic potential energy kinetic and
time-kinetic  energy energy and energy and with time potential energy
and the time-potential time-potential potential
energy change of the energy by energy with
body for every 10 drawing graphs time
meters if the body is d) In the graph, IT student can [f student can
to fall freely.4 shc!w the height a_lt s_how at wha_t SlI'IUW at whs!t
d) Show that from the which the pcfenl}a.l height potential height potential
. energy and kinelic energy and energy and
graph ’at what height energy of the body Kinetic energy of | kinetic energy of
potential energy and are equal and show the bodyare | the body are same
kinetic energy of the whal portion that is same and can or can show that
body are same and of the total height. show what height is what
show what portion portion that is of portion of the
that is of the total the total height total height.
height. 2 Total-
Total marks for this assignment:10
Marks Obtained Comments
09-10 Excellent
07-08 Very good
05-06 Good
0-04 Needs improvement




